Tangents to a Circle

Atangent to a circle is a line in a plane of the circle that intersects
the circle in exactly one point. That point is the point of tangency.
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Theorem

If AB is tangentto ©C at P, then AB is
perpendicular to CP.

If...

Then... E LCP

Converse
If AB is perpendicular to radius CP at P, then
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AB is tangent to oC.
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B. Segment ST is tangent to ©R. What is the
radius of OR?
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C. Line mis tangentto ©T at B, and line n is
tangent to © T at C. What is the value of x?

Q0 +40 +158+x = 30O

X=Y45°




2. Use oON.

a. Is MP tangent to ©/N? Explain.

NO) LNMP s not =« Q.‘bk'i‘ Z.

b. If LK is tangent to oV at L, what is KN?
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YZ and XZ are tangent to the circle. What is
the relationship between YZ and XZ?
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If two segments with a common endpoint
exterior to a circle are tangent to the circle, then
the segments are congruent.

If...

Then... AB =~ AC



3. TX =12 and TZ = 20, what are XZ and
YZ?

Xz FXT =T2°
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A satellite requires a line of sight for communication. Between the ground
stations farthest from the satellite, what is the amount of time needed for a
signal to go from one station up to the satellite, and then down to the other
station?
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